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Instructions

= Answer ALL questions. Write your answers in the spac
*  Show your working to get marks. You may use a non-pr

’ - A .
Question 1

CLO1,C1

Write each interval as an inequality.

(a) (-2,7]
(b) (=,5)

Question 2

CLO1, C2

Solve for xwhich satisfy the inequality below:
2x+2)<-2(x-1)

Question 3

CLO1, C2

Simplify the expression and leave only posi

. Question 4

CLO01,C3

(=a*b)?

—a%b3

tive indices in the ax wer.

Calculate the following indices without using calculator.

8x—1 e —— 16x+1

" 32%

es provided.
ogrammable scientific calculator.
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Instructions T

* Answer ALL questions. Write your answers in the spaces provided
* Show your working to get marks. You may use a non-programmable sclentific calculator

~

3 Question 1

CLo1.C1 {4 marks|
Write each interval as an inequality.

(a) (-2.7]

(®) (—==.5)

Question 2

CcLoi, Q2 (4 marks)
Solve for xwhich satisfy the inequality below:
2(x+2)s-2(x-1)

Question 3
cLoi 2 [3 marks)
Simplify the expression and leave only positive indices in the a1 wer.
(—a*b)?
.—a‘b3
_Question 4
CLO1,C3 {4 marks]
Calculate the following indices without using calculator.
81—1 e = 16** 1
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
=  Show your working to get marks. You may use a non-programmable scientific calculator.

‘, [y A .
Question 1
CLO1,C1 {4 marks]
Write each interval as an inequality.
(a] (_2' 7]
(b) (—,5)

Question 2

CLO1,C2 [4 marks]

Solve for xwhich satisfy the inequality below:
2(x+2)<-2(x—1)

Question 3

CLO1,C2. (3 marks)

Simplify the expression and leave only positive indices in the a1 wer.
(-a*b)®
_a4b3

. ,Question 4

CL01,C3 (4 marks]
Calculate the following indices without using calculator.

Bx—l _,._3_2_; = 16x+1
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
=  Show your working to get marks. You may use a non-programmable scientific calculator.

-

\"' -
Question 1

CLo1,C1

Write each interval as an inequality.
(a) (_2’ 7]
(b) (_°°' 5)

Question 2

CLo1,C2
Solve for xwhich satisfy the inequality below:

2(x+2)<-2(x—1)

Question 3
CLO1,C2
Simplify the expression and leave only positive indices in the a1 wer.
(-a*b)’
—a%b3
. Question 4
CLO1,C3

Question 1

Calculate the following indices without using calculator.
8x-—1 - __1_ — 16x+1

T 32%

Question 2
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Instructions
= Answer ALL questions. Write your answers int
= Show your working to get marks. You may usea non-programma
o e .
Question 1
cLo1,C1
Write each interval as an inequality.
(@) (-2,7]
(b) (—%,5)
Question 2
CL01,C2 »
Solve for xwhich satisfy the inequality below:
2(x+2) < —2(x— 1)
Question 3
CLO1,C2
Simplify the expression and leave only positive indices in the a1 wer.
(—a*b)?
—ath3
- .Question 4
CLO1,C3
Calculate the following indices without using calculator.
g*=1 g e = 165+

32%

he spaces provided.

scie«rrﬁf{ calculator.

[4 marks]

[4 marks]

[3 marks]

[4 marks]
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Instructions

* Answer ALL questions. Write your answers in the spaces provided.
* Show your working to get marks. You may use a non-programmable scients

s,
Question 1

CLOo1,C1

Write each interval as an inequality.
(a) (_21 7]
(b) (=,5)

Question 2

CLO1,C2
Solve for xwhich satisfy the inequality below:

2(x+2) < -2(x—-1)

Question 3
CLO1,C2
Simplify the expression and leave only positive indices in the a1 wer.
(—a*b)®
—a4p3
. ,Question 4
CLO1, C3

Calculate the following indices without using calculator.

8x—1 - i - 16x+1

32%

[4 marks]

[4 marks]

[3 marks]

[4 marks]
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Instructions
»  Answer ALL questions. Write your answers in the spaces provided.
»  Show your working to get marks. You may use a non-programmable scientific calculator.
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Question 1 "1 é 1 [k 2, :],7
CLO1, C1 7 L ( B ?] [4 marks]
. . . . — |
Write each interval as an@equahty.) o by 0T oy, ]
el 27}
B W7
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Question 2 e s 0 4
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CLO1, C2 g + [4 marks]
Solve for xwhich satisfy the inequality, W AN\ 2Nt Lkt
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CLO1,C3 [4 marks]
Calculate the following indices without using calculaton,
8x—1 - __@_.216x+1
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Instructions

s Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable s

T Qtiestion 1

cLo1,C1

Write each interval as an inequality.
(a) (-2,7]
(b) (==,5)

Question 2

[4 marks]

CLo1,C2
Solve for xwhich satisfy the inequality below:
2x+2)<-2(x—-1)

[4 marks]

Question 3

CLo1,c2
Simplify the expression and leave only positive indices inthea: wer.
(—a*b)*

[3 marks]

., Question 4

CLO1,C3

[4 marks]
Calculate the following indices without using calculator.

81’-1 = _35; — 16x+1
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Instructions
= Answer ALL questions. Write your answers in the spa

= Show your working to get marks.

e o
Question 1

CLo1,C1
Write each interval as an inequality.

(a) (—2' 7]
(b) (—,5)

Question 2

CLO1,C2
Solve for xwhich satisfy the inequality below:
2(x+2) £ -2(x— 1)

Question 3

CLO1,C2

Simplify the expression and leave only positive indices in the answer.

(—a*b)?
—a%h3

. Question 4

CLO01,C3

Calculate the following indices without using calculator.

8x—1 o = 16x+1
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You may use a non-programma
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TEST 2
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ble scientific calculator.

[4 marks]

[4 marks]

[3 marks]

[4 marks]
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